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b E FEEH | B AL | & fE Z B A B TEEH | B | B @ %
SR /A 200 g 54 32 | HEARDNA FORK L 10 ke 1,944 1, 080
LA = B 250 g 75 — | »T & & 10 ke 5, 940 3, 672
ZEDR 1= [ 200 g 64 43 | O — — — —
E2NAED = B 200 g 108 54 | TT 0T — — — —
Fh& = R 8 kg 3, 024 540 | T A BB — = B 250 g 129 54
LoAEL X B 180 ¢ 91 — | BHDH = B 250 ¢ 270 108

— — — — — | HEREE = R 250 g 432 -

PN A £ IF 10 ke 1, 404 — | TR AT m A 9 ke 5, 184 —
THEIZA LA B 10 ke 1,944 1,296 | 9 U e e AN 15 ke 5, 940 2, 160
<& RO 15 ke 1,944 1,080
X XY g S 10 ke 1, 080 648
LA A I 10 ke 1,944 1, 080
oY = I 5 ke 1,512 1, 080
Arn = 51 5 ke 1, 836 —
e b = 4 ke 1, 188 972
P—— = 51 150 g 75 —
EZAED FOEK L - 2ke 2,376 1, 944
5 AR L 4 kg 3, 240 —
I Lk ' IF 10 ke 3, 240 1,512
TmEhE e E 10 ke 1,188 972
LW m B 100 g 162 118
LU = B 100 g 54 -
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& H EEEHR B | & @& % B A H FEEM | B ] & E % fE
EFEAE R 1 ke 1,836 1,242 | $H]|Yr F U 1 ke 3, 240 1, 080
HESAHE = 1 ke 1, 350 1,188 | HEHN ST z— 1 ke 1,296 540
V4 & I 1 ke 799 108 | #Z = =R 1 kg 2, 160 1,080
NI £ IH 1 ke 2, 268 388 | ZEHEN FOER L 1 ke 1, 404 —
AT T+ ZE 1 ke 324 140 | FU A £ E 1ke 7,020 1,188
A A A Tg O 1 ke 1, 047 810 | BAFH >~ AbiEE 1 4% 248 54
& /N m 5 1 ke 1,728 140

&Z A & 1 ke 1, 296 216

EZ 2 & 1ke 2, 160 1, 620

INTE = g 1 ke 2, 160 432

), o 1 ke 1,728 572

AR T 1ke 3, 780 1, 220

A ANER L 1 ke 2,376 324




